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EXAMINATION L
201 P-6(LEG)

: wer from the given four alternatives.): 1x20=20
Anchal purchased a motor car from Kamal who had no title to it. Anchal used the motor car for
several months. True owner spotted the motor car and demanded it from Anchal. In such case
(a) Anchal is bound to hand-over the motor car to true owner.

(b) Anchal is not bound to return the motor car to true owner as he has paid in full settlement to
Kamal.

(c) Anchal shall advise true owner to approach Kamal.
(d) True owner has no right to claim either from Anchal or from Kamal.

Which of the following agreement is wagering agreement under the Indian Contract Act, 18727
(a) Crossword competition involving application of skill and knowledge.

(b) Contract of Insurance.

(c) A promise to pay B ¥ 1,000 if it rains on Monday.

(d) A agrees to pay B X 1,000 if two straight lines should enclose a space.

Under Sale of Goods Act, which of the delivery of goods is called as delivery by attornment?
(a) Actual

(b) Symbolic

(¢) Constructive

(d) Physical

Where the price of the goods under a contract of sale is to be fixed by the valuation of a third

party who fails to fix the valuation, but goods are supplied to the buyer, under section 10 of the
Sale of Goods Act, 1930, the buyer is

(a) liable to pay the reasonable price of the goods.

(b) liable to pay the minimum price of the goods.

(c) not liable to pay any price until fixed by the valuer.
(d) liable to pay the maximum retail price.

Under Factories Act, 1948, where work of the same kind is carried out by two or more sets of
workers during different period of the day, each of such period is called a

(a) Relay

(b) Shift

(c) Recess

(d) Overtime
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(vi)

(vii)

(viii)

(1x)

(x)
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Under Payment of Wages Act, 1936. deduction on account of payment to cooperative societies
shall not be more than

(a) 50% of wages

(b) 75% of wages

(c) 90% of wages

(d) 60% of wages

Under Employee’s State Insurance Act, in order to qualify for sickness benefit, the insured worker
is required to contribute for

(a) 70 days in a contribution period of 6 months.

(b) 78 days in a contribution period of 3 months.

(c) 91 days in a contribution period of 3 months.

(d) 78 days in a contribution period of 6 months.

Ankit purchased goods worth ¥ 20,000 from Anuj. In lieu of cash payment, Ankit accept a bill of

exchange of ¥ 20,000 to be payable after three months. This is an example of
(a) Accomodation Bill

(b) Fictitious Bill

(c) Genuine Bill

(d) Documentary Bill

Under the Negotiable Instruments Act, 1881, whether acceptance of a bill of exchange in the
following situation shall be treated as ‘qualified’ acceptance where the acceptor

(a) undertakes to pay only ¥ 10,000 for a bill drawn for ¥ 15,000.

(b) declares the payment to be independent of any other event.

(c) writes, ‘Accepted, payable at ABC Bank’.

(d) writes, ‘Accepted, payable at Delhi’.

When a partnership firm is continued even after the expiry of fixed term is called

(a) Perpetual partnership

(b) Fixed partnership

(c) Contract partnership

(d) Partnership at will

A person who is not a partner of a Partnership Firm, but he may liable for firm’s debt as if he was
a Partner. Such a person is called

(a) Nominal Partner

(b) Sleeping Partner

(c) Partner by estoppels

(d) Partner for profit only

Any person aggrieved by an order made by the Adjudicating Authority under PMLA 2002, may
prefer an appeal to

(a) Civil Court

(b) Appellate Tribunal

(c) Special Court

(d) High Court
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Under Companies (Registration Offices and Fees) Rules, 2014, every foreign company shall file
with the Registrar of Companies along with the financial statement in form ———— which
belong to the list of all the places of business established by the foreign company in India.

(a) FC 4

(b) FC 2

(c) FC 1

(d) FC 3

The supervisory board under the German Model is known as

(a) Aufsichtsrat

(b) Kiertsu

(c) Vorstand

(d) Kyosei

An audit committee has four fold relationship and therefore has to interact with management,
internal auditor, public and

(a) Cost auditor

(b) Statutory auditor

(c) Tax auditor

(d) Management auditor

Which one of the following categories of person have the right to information under section 3 of
Right to Information Act, 20057

(a) Only aggrieved persons

(b) All the Indian Resident and Foreign National staying in India

(c) All the citizens of India

(d) Non Resident Indians

Business ethics are needed to create a faith about the quality, quantity, price etc. of products. The
customers have more trust and faith in the businessmen who follow ethical rules. They feel that
such businessmen would not cheat them. Which one of the following is appropriate for it?

(a) Sefeguarding consumers’ right

(b) Improve customers’ confidence

(c) Survival of business

(d) Consumer movement

Holders of public office should not place themselves under any financial or other obligation to
outside individuals or organizations that might influence them in the performance or their official
duties. This principle of public life is called

(a) Selflessness
(b) Honesty
(c) Objectivity
(d) Integrity
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(xix) There are many types of ethical conflicts in the

(a) Business place

(b) Office place

(c) Work place

(d) Public place

(xx) Which one of the following is said to be “‘unethical behavior’’?
(a) Encouraging communication

(b) Economic cycles

(c) Employees awareness

(d) Objectivity

2. Answer any four questions: 12x4=48
(a) (i) Kavita falsely representing herself as the wife of a millionaire, takes a necklace from a jeweller’s

(b)

(ii)

shop for the approval of her husband. She pledges it with a pawn broker who in good faith and

without notice of the fraud pays her ¥ 1,00,000. Can the jeweller recover the necklace from
the pawn broker? 3

For the purpose of making uniform for the employees, Amit bought dark blue coloured cloth
from Bhagat, but did not disclose to the seller the purpose of said purchase. When uniforms
were prepared and used by the employees, the cloth was found unfit. However, there was
evidence that the cloth was fit for caps, boots and carriage lining. Advise Amit whether he is
entitled to have any remedy under the Sale of Goods Act, 19307 3

(iii) Akash, Ashish and Anil were partners in a firm. By his willful neglect and misconduct Anil

@iv)
®

(i)

(iii)

(iv)

caused serious loss to the business of the firm. After several warnings to Anil, Akash and
Ashish passed a resolution expelling Anil from the firm. By another resolution they admitted
Abhishek as a partner in place of Anil. Anil objects to his expulsion as also to the admission of
Abhishek. Is he justified in his objections? 3

“A cheque is a specie of a bill of exchange with two additional qualifications.” Explain. 3

Bimal at Durgapur under instruction from Amal of Kolkata contracts with Kamal to deliver
electric oven to him. Amal does not send the oven to Bimal and Kamal sues Bimal for breach
of contract. Bimal informs Amal of the suit and as per Amal’s advise Bimal defend the suit.
Bimal compelled to pay damages, costs and incurs expenses Amal refuse. Advise Bimal. 3

Mahendra made a hire-purchase agreement with Narendra for a car of which Narendra was
described as the owner. Mahendra paid four of the twelve monthly instalments and then learnt
that Jitendra claimed to be the owner of the car. He nevertheless paid the balance of instalment
and exercised his option to purchase. Jitendra then demanded the car and Mahendra gave it up
to him. Mahendra then sued Nerendra to recover the full price and Narendra counter claimed

for a reasonable sum as hiring charges for the car during the period it was with Mahendra.
Decide. 3

ABC Ltd. carrying manufacturing activities with aid of power and with eight workers for last
two years ending on 31.03.2014. Three more workers were appointed on 01.04.2014, two
workmen left the company on 30.04.2014. Thereafter no workman was employed nor any
workmen left. Mr. Basant, one of the workman demanded that Factories Act, 1948 shall be
applicable to this company but the management denied. Give your opinion. 3

Explain the powers of director to impose fine under section 13 of PMLA. 3
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Parag issues an open ‘bearer’ cheque for ¥ 10,000 in favour of Qadir who strikes out the word
‘bearer’ and crosses the cheque. The cheque is thereafter negotiated to Raman and Suman.
When it is finally presented by Suman’s banker, it is returned with remarks ‘payment
countermanded’ by drawer. In response to a legal notice from Suman, Parag pleads that the
cheque was altered after it had been issued and therefore he is not bound to pay the cheque.

Referring to the provisions of the Negotiable Instruments Act, 1881, decide, whether Parag’s
argument is valid or not? 3

Mayur and Nupur purchased a taxi to ply it in partnership. They had done business for about a
year when Mayur, without the consent of Nupur, disposed of the taxi. Nupur brought an action
to recover his share in the sale proceeds. Mayur’s only defence was that the firm was not
registered. Will Nupur succeed in her suit? 3

Sushil retired from the services of ABC Limited, on 31st March, 2014. He had a sum of ¥ 10
lakhs in his Provident Fund Account. It has become due for payment to Sushil on 30th April,
2014, but the company made the payment of the said amount after one year. Sushil claimed for
the payment of interest on due amount at the rate of 15 per cent per-annum for one year.
Decide, whether the claim of Sushil is tenable under the provisions of the Employees’ Provident
Funds and Miscellaneous Provisions Act, 1952. 3

Explain the procedure for fixing and revising minimum wages under Minimum Wages Act
1948. 3

Abir agreed to sell his cow to Bashir for ¥ 50,000 on Ist December, 2014. But before this date,
Abir repudiated the contract by informing Bashir that he would not sell his cow at all. However,
Bashir did not accept the refusal and kept the contract alive till 1st December, 2014. The cow
died before this date, but on 1st December, 2014, Bashir filed a suit against Abir for damages

for breach of contract. Will he succeed? Give reasons. Would your answer change had the cow
died on 5th December, 20147 3

After serving 15 years, Mr. Anand died on 30.09.2015 when his last twelve months average
monthly wages was ¥ 5,000. Calculate the amount of Employees Linked Deposit Insurance
(ELDI) which can be paid to nominee of Anand. 3

A workshop is employing 50 workmen. A shop-supervisor is drawing a monthly wages of
¥9,000. HRD paid bonus to all employees except the supervisor. The supervisor contends that

he is also entitled to bonus. Referring to the provisions of Payment of Bonus Act, 1965, decide
whether HRD’s action is correct? 2

Explain the procedure for fixing and revising minimum wages under Minimum Wages Act
1948. 4

The father of a minor girl, Anu, entered into an agreement for her marriage with Vishal.
Afterwards, Vishal refused to marry Anu. On attaining majority, Anu filed a suit against Vishal
for damages for breach of promises to marry. Vishal contended that Anu cannot enforce the

contract as she was not a party to the agreement between him and Anu’s father. Is Vishal’s
contention valid? 3

A cheque payable to bearer is crossed generally and is marked ‘not negotiable’. The cheque is
lost and comes into the possession of Baldev, who takes it in good faith and for value. Baldev

deposits the cheque into his own account and his banker collects the same. Discuss the liability

of collecting banker and paying banker. Can Baldev be compelled to refund the money to the
true owner of the cheque? 3
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(iii) For any contravention of provisions of the LLP Act or LLP agreement, all the partners of

LLP are liable for all penalties. Offer your views based on Limited Liability Partnership
Act, 2008. 3

(iv) Ajit an employee of Supertech Copper Ltd., continued to occupy the quarter of the company
for eight months after superannuation, company decided to forfeit the amount of gratuity of
Ajit. Examine the decision taken by the company to forfeit the amount of gratuity in the light of
the Payment of Gratuity Act, 1972. 3

3. Answer any two questions: 8x2=16

(a) (i) The management of Ambika Properties Ltd., has decided to take up the business of chemical
processing activity because of the downward trend in real estate business. There is no provision
in the object clause of the Memorandum of Association to enable the company to carry on such
business. State with reasons whether its object clause can be amended. State briefly the procedure
to be adopted for change in the object clause in the light of Companies Act, 2013. 5

(i) What do you mean by ‘Public authority’ as per RTI Act, 20057 3

(b) (i) Atul was appointed director of the company in its Annual General Meeting. He took over the
office and started acting on behalf of the company as its director. Subsequently, it was found
that the appointment of the director was not valid because in the meeting where he was appointed,
certain members who had voted were not qualified to vote and certain members had voted
twice by mistake. There were also certain mistakes in the counting of votes. As such, the
appointment of the director was held to be invalid. Would the acts of Atul, done by him as

director, be valid and binding upon the company? 3
(ii)) According to the Institute of Internal auditors, ‘Internal audit involves five areas of operation’.
Explain this statement. 2

(c) (i) Manish, a textiles dealer, supplied certain bales of cloth to the company which is duly
incorporated has obtained a certificate of incorporation. However, the company went into
liguidation before it could obtain certificate to commence business. Can Manish claim the

price of bales of cloth in liquidation proceedings? 2

(ii) Describe Cost Audit Methodology in Corporate Governance. 3

(iii) Under what conditions complaints can be made under RTI Act? 3

4. Answer any two questions: 8x2=16
(a) (1) ‘The terms ethics and morals are etymologically different’. Explain. 3

(ii) Explain the potential conflicts faced by a finance and accounting professional in the role of
independent consultant and employee. 5

(b) (i) State the evolution of ethics. 3

(ii) Explain two broad categories of safeguards created by business enterprise to eliminate threats. 5
(¢) (i) ‘Fairness and honesty are the pillars of success in business’. Comment. 4

(i) What is meant by Conflicts Resolution Process? What steps should be taken to resolve the
conflict issues? 4



